
1LAW OF CONTRACT\QUESTION P.T.O.

INDIAN CONTRACT ACT
PRELIMS TEST 

1. भारतीय संिवदा अिधिनयम, 1872 म¤  िनवर्चन खडं िनÌन म¤ 
उपबंिधत  ह:ै

 (a) धारा 1  (b) धारा 2

 (c) धारा 3  (d) उपरोक्त म¤ से कोई नहीं 

2. िनÌनिलिखत म¤ से कौन सा एक संिवदा के िलए आवÔयक 
नहीं ह?ै

 (a) प्रितफल 

 (b) मÐूयवान प्रितफल 

 (c) िविधपणूर् प्रितफल 

 (d) पयार्Į प्रितफल

3. वैध संिवदा की अिनवायर्ता ह ै
(a) मिÖतÕक का िमलन
(b) पक्षकार की बैठक
(c) प्रितफल हते ु बैठक
(d) प्रÖताव पर चचार् के िलए बैठक और Öवीकार

4. िनÌनिलिखत म¤ से कौन सा तÂव संिवदा के िलए आवÔयक 
नहीं ह ै ?

 (a) सक्षम पक्षकार

 (b) यिुक्त यकु्त िनबंधन और शतेर्

 (c) Öवतंत्र सÌमित

 (d) िविध पणूर् प्रितफल

5. प्रÖथापना प्रितगहृीत हो जाने पर

(a) वचन हो जाती

(b) संिवदा हो जाती है

(c) करार हो जाती है

(d) उपरोक्त म¤ से कोई नहीं

6. क अ मकु कीमत पर ख को गहृ बेचने की पत्र द्वारा प्रÖथापना 
करता ह।ै प्रÖथापना की संसचूना तब सÌपणूर् हो जाती ह ै जब

A. ' क ' पत्र को डाक म¤ डालता है

B. ' ख ' को पत्र का प्रितग्रहण करता ह ै ने पत्र िलखना परूा 
कर िलया है

C. ' ख ' को पत्र के डाक म¤ डालने की जानकारी िमलती है

D. ' ख ' को पत्र प्राĮ होता है

7. कौन सा कथन सही ह:ै

 (a) हर वचन करार है

 (b) प्रÂयेक करार संिवदा है

1. The interpretation clause of the Indian 
Contract Act, 1872 has been provided in 

 (a) Section 1  (b) Section 2 

 (c) Section 3  (d) none of the above 

2. Which one of the following is not essential 
for a valid contract? 

 (a) Consideration 
 (b) Valuable consideration 

 (c) Lawful consideration 

 (d) Adequate consideration 

3. The Essential of a valid contract are: 

 (a) Meeting of Mind 

 (b) Meeting of Parties 

 (c) Meeting to discuss consideration 

 (d) Meeting to discuss proposal and  
    acceptance 

4. Which one of the following elements is 
not necessary for a contract? 

 (a) Competent parties 

 (b) Reasonable terms and conditions 

 (c) Free consent 

 (d) Lawful consideration 

5. A proposal when accepted becomes : 

 (a) a promise 

 (b) a contract 

 (c) an agreement 

 (d) none of the above 
6. 'A' proposes by letter to sell a house to 'B' 

at a certain price. The communication of 
proposal is complete when 

 A. 'A' posts the letter 

 B. 'A' has completed the writing of letter 

 C. 'B' gets information about the posting   
     of the letter 

 D. 'B' receives the letter 

7. Which statement is true: 
 (a) Every promise is an agreement 
 (b) Every agreement is contract 
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 (c) Every proposal is promise 
 (d) Every acceptance is promise 

8. Number of ingredients of 'Promise' is: 

 (a) Two   (b) Four 

 (c) Three   (d) Five 

9. Which one of the following is the correct 
meaning of "An agreement not enforceable 
by law" ? 

 (a) Unlawful contract 
 (b) Void contract 
 (c) Viodable agreement 
 (d) Void agreement 

10. An agreement becomes a contract if: 

 (a) It is supported by consideration  

 (b) It is by the free consent of parties 

 (c) It is between parties competent to  
     contract 

 (d) It is enforceable by law 

11. Difference between a contract and social 
agreement is that of 

 (a) Consideration 

 (b) Intention to create legal relationship 

 (c) Consensus ad idem 

 (d) Certainty of performance 

12. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I   List II
   A. Section 2(c)  1. Agreement
   B. Section 2(e) 2. Void
   C. Section 2(g) 3. Promisor
   D. Section 2(h) 4. Contract
 Code: 
        A B C D
    (a)    2 4 3 1
 (b)    4 3 2 1
 (c)    2 4 1 3
 (d)    3 1 2 4

 

 (c) प्रÂयेक प्रÖताव वचन  है

 (d) प्रÂयेक Öवीकृित वचन  है

8. वचन' के तÂवŌ की संख्या ह ै :

 (a) दो (b) तीन

 (c) चार (d) पाँच

9. िनÌनिलिखत म¤ से कौन सा " वह करार जो िविधतः प्रवतर्नीय 
न हो" का सही अथर् ह?ै

 (a) िविधिवŁद्ध संिवदा  (b) शÆूय संिवदा 

 (c) शÆूयकरणीय करार  (d) शÆूय करार 

10. संिवदा अिधिनयम के तहत कब एक करार संिवदा बन जाता
 (a) यह प्रितफल द्वारा समिथर्त हो

 (b) यह पक्षकारŌ की Öवतंत्र सहमित से हो

 (c) यह अनबंुध के िलए सक्षम पक्षकारŌ के मÅय हो

 (d) िविध द्वारा प्रवतर्नीय हो

11. एक संिवदा तथा सामािजक करार के बीच अतंर होता है

 (a) प्रितफल का

 (b) िविधक संबंध Öथािपत करने के आशय का

 (c) काÆस¤सस एड इडम का

 (d) पालन की िनिĲतता का

12. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

 सचूी I     सचूी II

   A. धारा 2(सी)   1.करार

    B. धारा 2(ई)   2.शÆूय

    C. धारा 2(जी)   3.वचनदाता

    D. धारा 2(एच)   4.संिवदा
 Code: 
        A B C D
    (a)    2 4 3 1
 (b)    4 3 2 1
 (c)    2 4 1 3
 (d)    3 1 2 4
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13. In order to convert a proposal into a 
promise, the acceptance must be 

 (a) Qualifi ed 

 (b) Absolute and unqualifi ed 

 (c) Unqualifi ed only 

 (d) Absolute only 

14. Where persons reciprocally promise, fi rstly 
to do certain things which are legal and 
secondly, under specifi ed circumstances, 
to do certain other things which are illegal 
the 
(a) First set of promise is a contract, but the
     second is a void agreement 
(b) First set of promise is voidable but the 
 second set is a void agreement 
(c) Entire set of promises is void 
(d) Entire set of promises is valid 

15. Which one of the following statements is 
correct with regard to the nature of a valid 
contract? 

 (a) All agreements are contracts 

 (b) Contract is an agreement between      
   consenting  parties whether sane or insane 

 (c) Contract is an agreement without   
      consideration. 

 (d) The agreement enforceable by law, is   
      contract 

16. An offer was sent by post, the acceptor 
wrote 'accepted' on the letter, put it in his 
drawer and forgot about it. The transaction 
is a 

 (a) Valid contract 

 (b) A voidable contract 

 (c) A void contract 

 (d) No agreement as the acceptance was   
      never communicated to the proposer 

17. An agreement which is enforceable by law 
at the option of one or more of the parties 
there to, but not at the option of the other 
or others, is a 

 (a) Valid contract 
 (b) Unenforceable contract 
 (c) Voidable contract 
 (d) Quasi-contract 

13. िकसी प्रÖथापना को वचन म¤ बदलने के िलए प्रित ग्रहण का 
होना आवÔयक है

 (a) िवशिेषत

 (b) आÂयंितक और अिवशिेषत

 (c) केवल अिवशिेषत

 (d) केवल आÂयंितक

14. जहां िक कोई Óयिक्त, प्रथमत: कुछ ऐसी बात¤ करने का, जो वैध 
हŌ, और िद्वतीयतःिविनदेर्िशत पिरिÖथितयŌ म¤, कुछ अÆय बात¤ 
करने का, जो अवैध हŌ, Óयितकारी वचन दतेे ह§

 (a) वहां वचनŌ का प्रथम संवगर्, संिवदा ह ै िकÆत ु िद्वतीय संवगर् 

     शÆूय करार ह।ै

 (b) वहां वचनŌ का प्रथम संवगर्, शÆूयकरणीय ह ै िकÆत ु िद्वतीय  
     संवगर् शÆूय करार ह।ै

 (c) वहां वचनŌ का पणूर् संवगर्, शÆूय ह।ै

 (d) वहां वचनŌ का पणूर् संवगर्, अिविधमाÆय ह।ै

15. संिवदा के संबंध म¤ िनÌनिलिखत म¤ से कौन सा कथन सही ह?ै 

 (a) सभी करार संिवदा ह§

 (b) संिवदा सÌमित दनेे वाले पक्षŌ के बीच एक करार ह ै चाह े  
     वह ÖवÖथ िच° हो या िवकृत िच°

 (c) िबना प्रितफल के करार संिवदा है

 (d) वह करार, जो िविधत प्रवतर्नीय हो, संिवदा है

16. एक प्रÖताव डाक से भजेा गया, Öवीकारकतार् ने पत्र पर 'Öवीकृत' 
िलखा, उसे अपनी दराज म¤ रख िदया और इसके बारे म¤ भलू 
गया। लेनदने एक ह ै

 (a) वैध संिवदा 

 (b) एक शÆूयकरणीय संिवदा 

 (c) एक शÆूय संिवदा 

 (d) कोई करार नहीं क्यŌिक Öवीकृित के बारे म¤ प्रÖतावक को

     कभी सिूचत नहीं िकया गया था

17. वह करार, जो उसके पक्षकारŌ म¤ से एक या अिधक के िवकÐप 
पर तो िविध द्वारा प्रवतर्नीय हो, िकंत ुअÆय पक्षकार या पक्षकारŌ 
के िवकÐप पर नहीं- 

 (a) वैध संिवदा 
 (b) अप्रवतर्नीय संिवदा 
 (c) शÆूयकरणीय संिवदा
 (d) कÐप अनबंुध
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18.  Jai and Veeru who are the operators of 
a historical tourism fi rm named Sholay 
Enterprise. Recently they wrote a letter to 
Gabbar ji with the aim of getting his consent 
to show the wreckage of Titanic which is a 
water ship. They wrote in the letter that 
they are willing to give Gabbar ji a tour of 
Titanic for Rs. 10 crore. For the above work 
it is said that 'Jai and Veeru' have-

 (a) Proposed  (b) Promised

 (c) Contracted   (d) Accepted

19. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List II
 A. Section 9  1. Effect of mistakes  
       as to law
 B. Section 22  2. Promises,express  
           and implied
 C. Section 20   3. Where both parties
          are under mistake 
       as to matter of fact
 D. Section 21  4. Contract caused by
           mistake of one party
          as to matter of fact

 Code: 

      A B C D

 (a)  2 4 3 1

 (b)  2 3 4 1

 (c)  2 3  1 4

 (d)  2 1 3 4 

20. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List II

 A. Section 13  1. Voidability of 

      agreements without  

       free consent

 B. Section 15  2. Consent

 C. Section 16  3. Coercion

 D. Section 19  4. Undue infl uence

18. जय और वीł जो की शोले इÁटर प्राइज नामक एक इितहास 
परक पयर्टन फमर् के संचालक ह।ैहाल ही म¤ उÆहŌने टाइटैिनक 
जो की एक पानी वाला जहाज ह ैउसका मलबा िदखाने के िलए 
गÊबर जी को उनकी सहमित प्राĮ करने के उĥÔेय से पत्र िलखा। 
उÆहŌनेपत्र म¤ िलखा की वे गÊबर जी को टाइटैिनक का पयर्टन 
१0 करोड़ ł० म¤ कराने के इ¸छुक ह।ैउक्त कायर् के िलए यह 
कहा जाता ह ै िक  'जय और वीł ' ने-

 (a) प्रÖताव िकया ह ै (b) वचन िदया है

 (c) संिवदा िकया ह ै (d) Öवीकृित दी है

19. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

 सचूी I    सचूी II

   A. धारा 9  1. िविध के बारे म¤ भलूŌ का प्रभाव

   B. धारा 22 2. वचन, अिभÓयक्त और िवविक्षत

   C. धारा 20 3. जबिक दोनŌ पक्षकार तÃय की

     बात संबंधी भलू म¤ हŌ

   D. धारा 21 4. एक पक्षकार की तÃय की बात 

      के बारे की भलू से कािरत संिवदा

Code: 

     A B C D

 (a) 2 4 3 1

 (b)  2 3 4   1

 (c)  2 3  1  4

 (d)  2 1 3  4

20. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

  सचूी I    सचूी II

 A. धारा 13 1. Öवतंत्र सÌमित के िबना िकये गए

     करार की शÆुयकरणीयता

 B. धारा 15 2. सÌमित

 C. धारा 16 3. प्रपीड़न

 D. धारा 19 4. असÌयक् असर
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    Code: 

      A B C D
 (a)  2 4 3 1
 (b)  4 3 2 1
 (c)  2 3  4 1
 (d)  3 1 2 4

21. Balfour v. Balfour is a leading case on the 
principle of : 

 (a) Acknowledgment 
 (b) Intention to contract 
 (c) Promissory estoppel 
 (d) Restitution 

22. In a self-service shop, a customer 'X' 
selects certain goods and brings them to 
the counter of the cashier. In which of the 
following circumstances, the contract of 
sale is concluded: 

 (a) When 'X' selects the goods 
 (b) When 'X' selects the goods and brings
      them to the counter of the Cashier 
 (c) When cashier accepts the payment 
 (d) None of the above 

23. 'X' makes a proposal to 'Y' by post but 'Y' 
dies before the letter of proposal reaches 'Y'. 
Son of 'Y' accepts the proposal. Which one of 
the following statement is most appropriate 
with regard to the liability of 'X':

 (a) 'X' is liable as the proposal is accepted 

      by 'Y' son

 (b) 'X' is not liable because acceptance could 

     not be made by 'Y' due to his death 

 (c) 'X' is liable because he did not reject the 

      acceptance made by 'Y's son

 (d) 'X' is not liable because the proposal can 

      only be accepted by that person to whom 

      the proposal is made
24. Plaintiff telegraphed defendent "Will you 

sell your house, telegraph the lowest 
cash price." The defendent also replied by 
telegram "Lowest price for the house is Rs. 
50,000/-". This is a: 

 (a) Complete agreement 
 (b) Complete contract 
 (c) No contract 
 (d) Voidable contract 

Code: 

      A B C D
 (a)  2 4 3 1
 (b)  4 3 2 1
 (c)  2 3  4 1
 (d)  3 1 2 4

21. बाÐफोर बनाम बाÐफोर एक िनदशर्क वाद ह ै इस िसद्धांत पर  :

  (a) अिभÖवीकृित  

 (b) संिवदा करने का आशय

 (c) वचनाÂमक िवबंध

  (d) पनुÖथार्पन

22. एक Öवयं-सेवा दकुान म¤, एक ग्राहक  'एक्स' कुछ सामान चनुता 
ह ैऔर उÆह¤ कैिशयर के काउंटर पर लाता ह।ै िनÌनिलिखत म¤ से 
िकस पिरिÖथित म¤ िबक्री का संिवदा संपÆन होता ह:ै

 (a) जब 'एक्स' सामान का चयन करता है

 (b)  जब 'एक्स' सामान का चयन करता ह ैऔर उÆह¤ कैिशयर 

      के काउंटर पर लाता है

 (c)  जब कैिशयर भगुतान Öवीकार करता है

 (d) उपरोक्त म¤ से कोई नहीं

23. 'X' डाक द्वारा 'Y' को एक प्रÖताव दतेा ह ै लेिकन प्रÖताव का 
पत्र   'Y' तक पहुचंने से पहले ही 'Y' की मÂृय ु हो जाती ह।ै 
'Y' का बेटा प्रÖताव Öवीकार करता ह।ै िनÌनिलिखत म¤ से कौन 
सा कथन 'X' के दाियÂव के संबंध म¤ सबसे उपयकु्त ह:ै

 (a) 'एक्स' उ°रदायी ह ैक्यŌिक प्रÖताव 'वाई' के पतु्र द्वारा Öवीकार

     कर िलया गया है

  (b) 'एक्स' उ°रदायी नहीं ह ैक्यŌिक उसकी मÂृय ु के कारण 'वाई'

     द्वारा Öवीकृित नहीं दी जा सकती

  (c) 'एक्स' उ°रदायी ह ै क्यŌिक उसने 'वाई के बेटे द्वारा की गई

     Öवीकृित को अÖवीकार नहीं िकया है

  (d) 'एक्स' उ°रदायी नहीं ह ै क्यŌ िक प्रÖताव केवल Óयिक्त

     Öवीकार कर सकता ह ै िजसे प्रÖताव िदया गया है

24. वादी ने प्रितवादी को टेलीग्राफ िकया  "क्या आप अपना घर 
बेच¤गे, सबसे कम नकद मÐूय टेलीग्राफ कर¤।" प्रितवादी ने भी 
टेलीग्राम द्वारा उ°र िदया "घर की Æयनूतम कीमत Ł. 50,000/- 
ह"ै।यह ह ै एक:

 (a) 'पणूर्करार  (b)  पणूर्संिवदा

  (c)  कोई संिवदा नहीं  (d)  शÆूयकरणीय संिवदा
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25. यह िसद्धांत िक िकसी पछूताछ के िलए प्रदान की गई जानकारी 
प्रÖताव का िनमंत्रण ह,ै इसे िकस  मामले म¤ िनधार्िरत िकया 
गया था: 

 (a) ट्वीडल बनाम एटिकंसन (b) हावेर् बनाम फेसी
 (c) बॉनर् बनाम मसेन  (d) प्राइस बनाम ईÖटन
26. सामाÆय प्रÖताव के मामले म¤, यिद प्रÖतावक द्वारा आवÔयक न 

हो तो Öवीकृित के बारे म¤ सिूचत करने की कोई आवÔयकता 
नहीं ह।ै यह िनणीर्त िकया गया ह-ै

 (a) कािलर्ल बनाम काबōिलक Öमोक बॉल कंपनी

 (b) भगवानदास बनाम िगरधारीलाल

 (c) लालमन शकु्ला बनाम गौरी द°

 (d) रामजी दयावाला बनाम इÆवेÖटम¤ट इÌपोटर्

27. एक संिवदा के तहत सामाÆय प्रÖताव परूा िकया जा सकता ह:ै

 (a) वचनदाता या उसके प्रितिनिध या वचनदाता द्वारा इसे िनÕपािदत

         करने के िलए सक्षम के łप म¤ िनयोिजत िकसी Óयिक्त द्वारा

 (b) केवल Öवयं वचनदाता द्वारा

 (c) केवल संिवदा म¤ नािमत Óयिक्त द्वारा

 (d) केवल वादाकतार् या िकसी अÆय Óयिक्त द्वारा जो प्रितफल

     प्राĮ करता है

28. सामाÆय प्रÖताव से संबंिधत प्रिसद्ध मामला कौन सा ह?ै

 (a) लालमन शकु्ला बनाम गौरी द°

 (b) मोहरी बीबी बनाम धमōदास घोष

 (c) कािलर्ल बनाम काबōिलक Öमोक बॉल कंपनी

 (d) मकैफसर्न बनाम अÈपÆना

29. "Öवीकृित के िलए केवल मानिसक संकÐप Öवीकृित हते ु पयार्Į 
नहीं होगा, बोलना, िलखना या कोई अÆय łप बाहरी प्रकटन 
के िलए कुछ होना चािहए" उ¸चतम Æयायालय द्वारा यह धािरत 
िकया गया-

 (a) फैजल इलाही बनाम ईÖट इिÆडयन रेलवे कÌपनी के वाद म¤
 (b) एम. नÆजÈपा बनाम एम.पी. मथुÖुवामी के वाद म¤
 (c) डग्डेल बनाम लोविरंग के वाद म¤
 (d) भगवान दास बनाम िगरधारीलाल एÁड कं. के वाद म¤

30. िविधक िसद्धांत, जो हावेर् बनाम फेसी के मामले म¤ िनधार्िरत 
िकया गया था, सबसे पहले भारत के सवō¸च Æयायालय द्वारा 
िनÌनिलिखत म¤ से िकस मामले म¤ अपनाया गया था?

 (a) बद्री प्रसाद बनाम मÅय प्रदशे राºय।

 (b) Êयोमकेश बनजीर् बनाम नानी गोपाल बिनक

25. The principle that an information supplied 
to an enquiry is an invitation to treat, it was 
laid down in the case of: 

 (a) Twedle v. Atkinson (b) Harvey v. Facey 
 (c) Bourne v. Mason  (d) Price v. Easton 

26. In case of general offer, there is no need to 
communicate the acceptance if not required 
by the proposer. This has been held in- 

 (a) Carlill v. Carbolic Smoke Ball Co. 
 (b) Bhagwandas v. Girdharilal 
 (c) Lalmon Shukla v. Gauri Dutt 
 (d) Ramji Dayawala and Sons V. 
     Investment Import V. 
27. General promise under a contract can be 

performed: 
 (a) By the promisor or his representative
      or any person employed by the promisor
      as competent to perform  it 
 (b) Only by promisor himself 
 (c) Only by the person named in the contract 
 (d) Only by promisor or any other person 
      who receives the consideration 
28. Which one is the famous case related with 

the general offer? 
 (a) Lalman Shukla v. Gauri Dutt 
 (b) Mohori Bibee v. Dharmodas Ghose 
 (c) Carlill v. Carbolic Smoke Ball Co. 
 (d) MacPherson v. Appanna 

29. "For an acceptance mere mental resolve to 
accept would not be suffi cient; there must 
be some external manifestation of the intent 
by speech, writing or other act." It was held 
by Supreme Court in 

 (a) Fazal Ilahi v. East Indian Railway Co. 
 (b) M. Nanjappa v. M.P. Muthuswamy. 
 (c) Dugdale v. Lovering. 
 (d) Bhagwan Das v. Girdhari Lal and Co. 

30. The legal principle, which was laid down 
in the case of Harvey v. Facey, was fi rstly 
followed by the Supreme Court of India in 
which of the following cases? 

 (a) Badri Prasad v. State of M.P. 

 (b) Byomkesh Banerjee v. Nani Gopal Banik 
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 (c) D.I. MacPherson v. M.N. Appanna 

 (d) Carlill v. Carbolic Smoke Ball Co. 

31. 'X', at the desire of 'Y', teaches son of 'Y' in 
the month of January and 'Y' in the month 
of February promises to pay Rs. 500/- to 'X' 
for teaching in January. Which one of the 
following is correct statement with regard 
to the teaching by 'X': 

 (a) Such teaching is no consideration 

 (b) Such teaching is past consideration 

 (c) Such teaching is present consideration 

 (d) Such teaching is future consideration 

32. Which one of the following pairs is correctly 
matched? 

 (a) In India, Consideration must follow- from 

     Promisee  only 

 (b) In India, Consideration must follow- from 

     only Promisor or only Promisee 

 (c) In India Consideration must follow- from 

     Promisor or any other person 

 (d) In India Consideration must follow- 

      Promisee or any other person 

33. Which of the following statements regarding 
consideration is not correct? 

 (a) It must be given at the desire of the   
     promisor 

 (b) It may be past also 

 (c) It need to be adequate to the promise 

 (d) Stranger to it cannot sue 

34. The "Doctrine of Privity of Contract" was for 
the fi rst time applied in 

 (a) Dutton v. Poole 18000

 (b) Jordon v. Jordon

 (c) Price v. Easton 

 (d) Atlee v. Backhouse shianco 

35. Assertion (A): A stranger to a contract 
cannot enforce the contract. 

 Reason (R): He is not party to contract and  
 cannot take benefi t. 

 (c) डी.आई. मकैफ़सर्न बनाम एम.एन. अÈपÆना

 (d) कािलर्ल बनाम काबōिलक Öमोक बॉल कंपनी

31. X', 'Y' की इ¸छा पर, 'Y' के पतु्र को जनवरी माह म¤ िशक्षा 
प्रदान करता ह ै और 'Y' फरवरी माह म¤ जनवरी म¤ िकये गए 
शिैक्षक कायर् के िलए  500/- Łपये दनेे का वचन दतेा ह ै । 'X' 
द्वारा िशक्षण के संबंध म¤ िनÌनिलिखत म¤ से कौन सा कथन सही 
ह:ै 

 (a) ऐसी िशक्षा का कोई प्रितफल नहीं है

 (b) ऐसा िशक्षण पवूर् का प्रितफल है

 (c) ऐसा िशक्षण वतर्मान प्रितफल है

 (d) ऐसा िशक्षण भिवÕय का प्रितफल ह ै

32. िनÌनिलिखत म¤ से कौन सा जोड़ा सही समुिेलत ह?ै

 (a) भारत म¤, प्रितफल का अनसुरण केवल वचनगहृीता से ही  
     होना चािहए

 (b) भारत म¤, प्रितफल का पालन केवल वचनदाता या केवल  
     वचनगहृीता से होना चािहए

 (c) भारत म¤ प्रितफल का पालन वचनदाता या िकसी अÆय Óयिक्त

     से होना चािहए

 (d) भारत म¤ प्रितफल का पालन- वचनगहृीता या कोई अÆय 

     Óयिक्त से होना चािहए

33. प्रितफल  के संबंध म¤ िनÌनिलिखत म¤ से कौन सा कथन सही 
नहीं ह?ै

 (a) यह वचनदाता की वांछा पर िदया जाना चािहए

 (b) यह बीते समय म¤ िकये कायर् के िलए भी हो सकती है

 (c) इसे वाद े के अनłुप पयार्Į होना चािहए

 (d) इसके िलए अजनबी वाद नहीं ला सकता

34. संिवदा के संसगर् का िसद्धांत पहली बार लाग ू िकया गया था

 (a) डटन बनाम पलेू

 (b) जॉडर्न बनाम जॉडर्न

 (c) प्राइस बनाम ईÖटन

 (d) एटली बनाम बैक हाउस

35. दावा (A): संिवदा से अपिरिचत Óयिक्त संिवदा को प्रवितर्त नहीं 
करा सकता ह।ै 

 कारण (R): वह संिवदा का पक्षकार नहीं ह ैऔर लाभ नहीं ले 
 सकता।



8LAW OF CONTRACT \QUESTION P.T.O.

INDIAN CONTRACT ACT 
PRELIMS TEST 

 Code: 

 (a) (A) and (R) both are true and (R) is correct 

     explanation of (A). 

 (b) (A) and (R) both are true, but (R) is not   
     the correct explanation of (A). 

 (c) (A) is true, but (R) is false. 

 (d) (A) is false, but (R) is true. 

36. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List II
 A. Section 25  1. Agreement not to 
       carry on business
      of which  good-will  
     is sold
 B. Section 27  2.Order of 
          performance of
       reciprocal promises.
 C. Section 44  3. Promise to pay a
     debt barred by
     limitation law
 D. Section 52  4. Effect of release
     of one joint promisor.
Code:
      A B C D
 (a) 3 1 2 4
 (b)  4 1 3 2
 (c)  4 3 1 2
 (d)  3 1 4 2

37. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List II
 A. Section 58  1. Person by whom   
          promise is to be   
            performed
 B. Section 63  2. Alternative 
            promise, one
        branch being illegal
 C. Section 67  3. Promisee may
      dispense with or 
      remit performance 
      of promise

  कोड:

 (a) (A) और (R) दोनŌ सÂय ह§ और (R) (A) का सही ÖपĶीकरण

     ह।ै

 (b) (A) और (R) दोनŌ सÂय ह§, लेिकन (R) (A) का सही

    ÖपĶीकरण नहीं ह।ै
 (c) (A) सच ह,ै लेिकन (R) गलत ह।ै
 (d) (A) गलत ह,ै लेिकन (R) सच ह।ै

36. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

   सचूी I   सचूी II
 A. धारा 25 1. िजस कारबार की गडुिवल बेच
     दी गई ह ै उस कारवार को न   
     चलाने के करार की Óयाविृ°

 B. धारा 27 2. संयकु्त वचनदाताओ ंम¤ से एक की

    िनमुर्िक्त का प्रभाव 

 C. धारा 44  3. पिरसीमा िविध द्वारा वािरत िकसी

     ऋण के संदाय का वचन हो

 D. धारा 52 4. Óयितकारी वचनŌ के पालन का 

 Code:

    A B C D

 (a) 3 1 2 4

 (b) 4 1 3 2

 (c) 4 3 1 2

 (d) 3 1 4 2

37. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

   सचूी I   सचूी II

 A. धारा 58 1. वह Óयिक्त िजसे वचन का पालन

     करना है

 B. धारा 63 2. अनकुÐपी वचन िजसकी एक शाखा

    अवैध हो

 C. धारा 67  3. वचनगहृीता वचन के पालन से

    अिभमिुक्त या उसका पिरहार द ेया

    कर सकेगा 
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 D. Section 40  4. Effect of neglect of
    promisee to afford 
    promisor reasonable 
   facilities for 
   performance.
 Code:
      A B C D
 (a) 3 1 2 4
 (b) 4 1 3 2
 (c) 4 3 1 2
 (d) 2 3  4 1

38. Following is a case on Promissory Estoppel 
: 

 (a) Kedar Nath v. Gorie Mohamed 
 (b) Delhi Cloth and General Mills Ltd. v. 
     Union of India 
 (c) Both (a) and (b) 
 (d) None of the above 

39. 'A contract of telephone becomes complete 
at the place where acceptance is heard.' In 
which case it has been held? 

 (a) Bhagwandas v. Girdharilal 
 (b) Carlil v. Carbolic Smoke Ball Company 
 (c) Mohribibi v. Dharmodas Ghosh 
 (d) Satyabratta Ghosh v. Mugneeram 

40. "An acceptance is complete as soon as 
the letter of acceptance is posted whether 
it reaches the offerer or not." Which one 
of the following with regard to the above 
statement is correct : 

 (a) According to Indian Law, the rule is valid 
 (b) According to English Law, the rule is 
     valid 
 (c) Both Indian Law and English Law follow
    the same rule 
 (d) None of the above is correct 

41. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

    List I    List II
     A. Section 72 1. Contingent contract
     B. Section 31 2. Power to set aside
   contract induced by  
   undue infl uence
     C. Section 19A 3. Liability of  person for
      money paid under 
      coercion.
     D. Section 37 4. Obligation of parties to
      contracts

  D. धारा 40 4. पालन के िलए यिुक्तयकु्त सौकयर्
    वचनदाता को दनेे म¤ वचनगहृीता
    की उपेक्षा का प्रभाव
Code:
     A B C D
 (a)  3 1 2 4
 (b)  4 1 3 2
 (c)  4 3 1 2
 (d)  3 1 4 2

38. िनÌनिलिखत म¤ से कौन सा वचनाÂमक िवबंध पर ह?ै

  (a) केदारनाथ बनाम गोरी मोहÌमद

 (b) िदÐली क्लॉथ एडं जनरल िमÐस िलिमटेड बनाम भारत 

     संघ

 (c) दोनŌ (a) और (b)

 (d) उपरोक्त म¤ से कोई नहीं

39. टेलीफोन पर संिवदा वहीं परूा हो जाता ह,ै जहां Öवीकृित सनुाई 
दतेी ह।ै' यह िकस मामले म¤ कहा गया ह?ै

 (a) भगवान दास बनाम िगरधारीलाल

 (b) कािलर्ल बनाम काबōिल कÖमोक बॉल कंपनी

 (c) मोहिर बीबी बनाम धमōदास घोष

 (d) सÂयब्रत घोष बनाम मगुनी राम

40. "जैसे ही Öवीकृित पत्र पोÖट िकया जाता ह,ै Öवीकृित परूी हो 
जाती ह,ै चाह े वह प्रÖताव कतार् तक पहुचंे या नहीं।" उपरोक्त 
कथन के संबंध म¤ िनÌनिलिखत म¤ से कौन सा सही ह:ै

 (a) भारतीय िविध के अनसुार, िनयम माÆय है

 (b) अगें्रजी िविध के अनसुार िनयम माÆय है

 (c) भारतीय िविध और अगें्रजी िविध दोनŌ एक ही िनयम का  
     पालन करते ह§

 (d) उपरोक्त म¤ से कोई भी सही नहीं ह ै

41. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

 सचूी I   सचूी II
   A. धारा 72             1. समाि®त संिवदा
   B. धारा 19              2. असÌयक् असर से उÂपे्रिरत संिवदा
    को अपाÖत करने की शिक्त
   C. धारा 19A           3. उस Óयिक्त का दाियÂव िजसको     
    प्रपीड़न के अधीन धन का संदाय  
       िकया जाता है
    D. धारा 37            4. संिवदाओ ं के पक्षकारो की बाÅयता
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 Code:
      A B C D
 (a)  3 1 2 4
 (b)  4 1 3 2
 (c)  4 3 1 2
 (d)  3 1 4 2

42. Which Jurist has said "Contract is not Joke 
of Leisure time": 

 (a) Anson  (b) Cheshire 

 (c) Lord Stowell  (d) Lord Atkin 

43. Who said that, "Public Policy is a unruly 
horse"? 

 (a) Justice Atkin  
 (b) Justice Wright 
 (c) Justice Deny  
 (d) Justice Borrough 

44. Match the List I with List II and select the 
correct answer by using the codes given 
below the lists: 

 List I    List II
(A) Acceptance  (i)  National Association  
    of offer by  Software and S.

  Conduct  Computer v.  Ajay 
     Sood, AIR 2005 Delhi 
     269

   (B) Phishing         (ii) Bhagwati Prasad   
          Pawan Kumar V.       
        Union of India, AIR   
        2006 S.C. 2331
   (C) Contract  (iii) Ali Mohd. Sheikh v. 
        Through E- mail       J&K AIR 1987 J&K 11
  (D)  Promissory  (iv) Sapna Ganglani v.      
 Estoppel       R.S. Enterprises, 
        AIR 2008 Kr. 178

Code: 
       (A) (B) (C) (D)

  (a) (iv) (iii) (i) (ii)
 (b) (i) (ii) (iii) (iv)
 (c) (ii) (i) (iv) (iii)
 (d) (i) (iii) (ii) (iv)

45. Match List-I with List-II and select the 
correct answer using the codes given below 
the lists: 

 

Code:
     A B C D
 (a)  3 1 2 4
 (b)  4 1 3 2
 (c)  4 3 1 2
 (d)  3 1 4 2

42. िकस Æयायिवद ने कहा ह ै "संिवदा फुरसत के समय का मजाक 
नहीं ह ै ":

  (a) एसंन  (b) चशेायर
 (c) लॉडर् Öटोवेल    (d) लॉडर् एटिकन

43. िकसने कहा था िक, "लोक नीितएक बेलगाम घोड़ा ह"ै?

  (a) Æयायमिूतर् एटिकन

 (b) Æयायमिूतर् राइट

 (c) Æयायमिूतर् इनकार करते ह§

  (d) जिÖटस बरोज़

44. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग कर के सही उ°र चनु¤: 

 सचूी I    सचूीII
   A. आचरण द्वारा     (i) नेशनल एसोिसएशन  सॉÉटवेयर  
     प्रÖताव की Öवीकृित         और एस कंÈयटूर बनाम अजय
   सदू, एआईआर 2005 िदÐली  
      269     
  B.  जालसाची (ii) भगवती प्रसाद, पवन कुमार   
         वी.यिूनयन ऑफ इिंडया, 
      एआईआर 2006 एस.सी.2331
  C. ई-मले के माÅयम     (iii) अली मोहÌमद। शखे बनाम 
 से अनबंुध  जÌम-ूकÔमीर एआईआर 1987  
      जÌम-ूकÔमीर 11
  D. वचनाÂमक िवबÆध (iv) सपना गंगलानी बनाम आर.एस.
      इटंरप्राइजेज, एआईआर 2008 
       क्र. 178
Code:
      (A) (B) (C) (D)
  (a) (iv) (iii) (i) (ii)
 (b) (i) (ii) (iii) (iv)
 (c) (ii) (i) (iv) (iii)
 (d) (i) (iii) (ii) (iv)

45. सचूी-I को सचूी-II से समुिेलत कर¤ और सिूचयŌ के नीच े िदए 
गए कोड का उपयोग करके सही उ°र चनु¤:
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 List - I   List-II 
  A. Quantum Meruit  1. Both parties have  
    agreed upon the same  
     thing in the same sense.
 
  B. Collateral  2. An transaction 
     agreement without 
     consideration is void. 
  C. Consensus ad  3. The compensation
      idem     in proportion to the   
     work done. 
  D. ex nude pacto non  4. Transactions 
      oritur actio      subsidiary to the 
       main 
Code: 
        A B C D
 (a)   4 1  2  3
 (b)   4  2  1 3
 (c)   3 4   1 2
 (d)  3 1   2  4

46. If an minor obtains property or goods 
bymisrepresenting his age, he may be 
compelled to return the same. This is 
known as: 

 (a) Subrogation   (b) Restitution 

 (c) Contribution   (d) Redemption 

47. 'T' coaches 'M' a minor, who is a student of 
Secondary School in Mathematics. Though 
there was no talk between the father of 'M' 
and 'T' with respect to any remuneration 
to be paid to 'T' yet the father of 'M' had 
knowledge of the coaching imparted by 'T'. 
After 'M' succeeded in his examination, 'T' 
demanded remuneration from father of 'M'. 
Which legal principle would govern the case 
at hand? 

 (a) 'M' being minor, 'T' would have no claim
     against any service imparted to 'M' 
 (b) Since the father of 'M' never entered into 
      any contract with 'T', 'T' will not have any
     actionable  claim  
 (c) 'T' would be entitled to recover from
      father of 'M' since father of 'M' has enjoyed 
    the benefi t of non-gratuitous act of 'T' that 
     being coaching 'M' 
 (d) The premise would not be covered by any 
      legal principle under the Indian laws 

48. In India 'Past consideration is good 
consideration'. This is the result of the 
provision of which section of the Indian 
Contract Act? 

 (a) Section 2(d) of the Indian Contract Act

 सचूी-I   सचूी-II

   A. क्वांटम मिेरट   1.दोनŌ पक्ष एक ही अथर् म¤ एक

        ही बात पर सहमत हुए ह§।

   B. संपािĵर्क  2. िबना प्रितफल के लेनदने 

      समझौता शÆूय ह।ै

   C. कंस¤सस एड इडेम  3. िकए गए कायर् के अनपुात  
         म¤ मआुवजा।

   D. एक्स Æयडू पैक्टो     4. मखु्य से सहायक लेन-दने

      नॉन ओिरटुर एक्शन
Code: 
        A B C D
 (a)   4 1  2  3
 (b)   4  2  1 3
 (c)   3 4   1 2
 (d)  3 1   2  4

46. यिद कोई नाबािलग अपनी उम्र गलत बताकर संपि° या सामान 
प्राĮ करता ह,ै तो उसे उसे वापस करने के िलए मजबरू िकया 
जा सकता ह।ै इसे इस łप म¤ जाना जाता ह:ै

 (a) बहाली  (b) प्रितÖथापन

  (c) योगदान  (d) मोचन

47. 'T' एक नाबािलग ' M' को प्रिशिक्षत करता ह,ै जो  माÅयिमक 
िवद्यालय म¤ गिणत का छात्र ह।ै हालाँिक 'M' और 'T' के िपता 
के बीच 'T' को िदए जाने वाले िकसी पािर®िमक के संबंध म¤ 
कोई बातचीत नहीं हुई थी, िफर भी 'M' के िपता को 'T' द्वारा 
दी गई कोिचगं के बारे म¤ जानकारी थी। 'M' के परीक्षा म¤ सफल 
होने के बाद, 'T' ने 'M' के िपता से पािर®िमक की मांग की। 
कौन सा काननूी िसद्धांत मामले को िनयंित्रत करेगा?

 (a) 'M' नाबािलग ह,ै 'T' का 'एम' को प्रदान की गई िकसी 
     भी सेवा के िखलाफ कोई दावा नहीं होगा
 (b) चूिंक 'M' के िपता ने 'T' के साथ कभी कोई अनबंुध नहीं 
     िकया, इसिलए 'T' के पास कोई कारर्वाई योग्य दावा नहीं
     होगा
 (c) 'T', 'M' के िपता से वसलूी का हकदार होगा क्यŌिक 'एम'
     के िपता ने 'एम' को कोिचगं दतेे हुए 'टी' के अननगु्रिहक
     कायर् का लाभ उठाया ह।ै
  (d) यह पिरसर भारतीय काननूŌ के तहत िकसी भी काननूी
    िसद्धांत के अतंगर्त नहीं आएगा

48. भारत म¤ 'भतूकालीन प्रितफल अ¸छा प्रितफल ह।ै' यह भारतीय 
संिवदा अिधिनयम, की िकस धारा के प्रावधान का पिरणाम ह ै ? 

 (a) भारतीय संिवदा अिधिनयम की धारा 2(d)
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 (b) भारतीय संिवदा अिधिनयम की धारा 23

 (c) भारतीय संिवदा अिधिनयम की धारा 25(2) 

 (d) भारतीय संिवदा अिधिनयम की धारा 25 (3)

49. भारतीय संिवदा अिधिनयम, 1872 का िवÖतार - 

 (a) संपणूर् भारत पर है

 (b) जÌम-ूकÔमीर राºय के िसवाय संपणूर् भारत पर है

 (c) जÌम-ूकÔमीर, नगाल§ड और िसिक्कम राºयŌ के िसवाय संपणूर्

    भारत पर है

 (d) इनम¤ से कोई नहीं

50. सचूी I कोसचूी II से िमलाएं और सिूचयŌ के नीचे िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

 सचूी I    सचूी II

 A. धारा 26  1.   Óयापार का अवरोधक करार 

 B. धारा 27  2. करार अिनिĲतता के   
         कारण शÆूय है

 C. धारा 28  3. िविध कायर्वािहयŌ के   
         अवरोधक करार

      D. धारा 29  4. िववाह का अवरोधक         
         करार

Code:

   A B C D
 (a) 2 1 3 4
 (b) 4 1 3 2
 (c) 4 3 1 2
 (d) 3 1 4 2

51. भारतीय संिवदा अिधिनयम, म¤ ह:ै

 (a) संिवदा िविध की पणूर् संिहता

 (b) मात्र संिवदा िविध के सामाÆय िसद्धांत

 (c) संिवदा िविध के सामाÆय और तीन िविनिदर्Ķ संिवदाएं

 (d) संिवदा िविध के सामाÆय िसद्धांत और अÆय िविनिदर्Ķ संिवदाएं

52. प्रÖथापना प्रित गहृीत हो जाने पर

 (a) वचन हो जाती

 (b) संिवदा हो जाती है

 (c) करार हो जाती है

 (d) उपरोक्त म¤ से कोई नहीं

 (b) Section 23 of the Indian Contract Act
 (c) Section 25(2) of the Indian Contract Act
 (d) Section 25(3) of the Indian Contract Act

49. The extent of the Indian Contract Act, 1872 
is – 

 (a) All over India
 (b) Whole of India except the State of Jammu
     and Kashmir
 (c) The whole of India except the states of
     Jammu and Kashmir, Nagaland and      
     Sikkim
 (d) None of these

50. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I   List II
   A. Section 26 1. Agreement in
      restraint of trade,
   B. Section 27 2. Agreements void
                                  for uncertainty.
   C. Section 28 3. Agreements in 
                                restraint of legal   
      proceeding
  D. Section 29 4. Agreement in restraint
     of marriage

Code:
      A B C D
 (a) 2 1 3 4
 (b) 4 1 3 2
 (c) 4 3 1 2
 (d) 3 1 4 2

51. The Indian Contract Act is consisting:
 (a) Complete Code of Contract Law
 (b) General principles of mere contract law
 (c) General and fi ve specifi c contracts of
      contract law
 (d) General principles of contract law and
      seven specifi ed contracts

52. On acceptance of the proposal

 (a) becomes a promise

 (b) the contract is made

 (c) the agreement is made

 (d) none of the above
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53. के्रल बनाम हनेरी का वाद िकस िसद्धांत से संबंिधत ह ै ?
 (a) नैराÔय या असÌभवता का िसद्धांत
 (b) करार एवं संतिुĶ का िसद्धांत
 (c) संिवदा के संसगर् का िसद्धांत
 (d) उपयुर्क्त म¤ से कोई नहीं

54. इगं्ल§ड की महारानी की खंड पीठ का कौन सा प्रािधकार पणूर् 
िनणर्य 'सामाÆय प्रÖताव' की अवधारणा से संबंिधत था? 

 (a) कािलर्ल बनाम काबōिलकÖमोक बॉल कंपनी

 (b) बाÐफोर बनाम बाÐफोर

 (c) टेलर बनाम पोिट«गटन

 (d) Öप¤सर बनाम हािड«ग

55. ऐसी िÖथित का वणर्न करने के िलए िकस शÊदावली का उपयोग 
िकया जाता ह ै जब दो पक्ष एक-दसूरे के प्रÖताव से अनिभज्ञ 
होकर एक-दसूरे को समान प्रÖताव दतेे ह§?

 (a) प्रÖताव  (b) क्रॉसऑफर

 (c) काउंटरऑफर  (d) सशतर्प्रÖताव

56. 'X' ने एक िवज्ञापन के माÅयम से 6000 भी देना प्रÖतािवत 

िकया जो उसके खोये हुए पतु्र को वािपस ले आएगा। 'Y', 'X' 

के पतु्र को लाता ह।ै िनÌनिलिखत म¤ से िकस पिरिÖथित म¤ 'Y' 

पािरतोिषक पाने का हकदार होगा ? 

 (a) जब उसने िवज्ञापन पढ़ा हो और पतु्र को खोजना प्रारंभ िकया 

         हो और उसको लाया हो

 (b) जब उस ने पतु्र को खोजना प्रारंभ िकया, तो पािरतोिषक के

     बारे म¤ नहीं जानता था परंत ु पतु्र को लाने के पहले िवज्ञापन

    के बारे म¤ जान गया था

 (c) जब वह 'X' के पास पतु्र को लाने के समय तक िवज्ञापन

    के बारे म¤ जानता ही नहीं था

 (d) उपरोक्त कोई नहीं

57. जहां िक िकसी करार के दोनŌ पक्षकार ऐसे तÃय की बात के 
बारे म¤, जो िक करार के िलए आवÔयक ह,ै भलू के कारण 
हो,वहां करार

 (a) शÆूयकरणीय ह ै  (b) शÆूय है

 (c) अवैध ह ै  (d) उपयुर्क्त म¤ से कोई नहीं

53. Krell v Henry case is related to which theory?
(a) Principle of hopelessness or impossibility
(b) Principle of agreement and satisfaction
(c)Doctrine of Privity of Contract 
(d) None of the above

54. Which judicial pronouncement of the 
Queen’s Bench of England had dealt with 
the concept of ‘general offer’?

 (a) Carlill v. Carbolic Smoke Ball Co.

 (b) Balfour v. Balfour

 (c) Taylor v. Portington

 (d) Spencor v. Harding

55. What is the terminology used to describe a 
situation when two parties make identical 
offers to each other in ignorance of each 
other’s offer?

 (a) Offer  (b) Cross offer

 (c) Counter offer  (d)Conditional offer

56. 'X' through an advertisement offered a 
reward of Rs.6000 to anyone who would 
bring back his lost son. 'Y' brings the 
son of 'X'. In which of the following 
circumstances 'Y' will be entitled to the 
prize?

 (a) when he has read the advertisement and 

     started searching for the son and brought 

     him

 (b) When he started searching for the son,

    he did not know about the reward but

   came to know about the advertisement

    before bringing the son
 (c) when he did not know about the
     advertisement till the time of bringing the 
    son to 'X'
 (d) none of the above

57. Where both the parties to an agreement 
are under a mistake as to a matter of fact 
essential to the agreement,agreement is-

 (a) is voidable  (b) is void

 (c) illegal  (d) none of the above
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58. जब दोनŌ पक्षकार की सहमित भलू से प्राĮ हो तो ऐसी सहमित ह-ै

 (a) शÆूय (b) वैध

 (c) शÆूयीकरण (d) अवैध

59. सचूी I को सचूी II से िमलाए ं और सिूचयŌ के नीच े िदए गए 
कोड का उपयोग करके सही उ°र चनु¤:

 सचूी I   सचूी II

    A. धारा 41  1. संयकु्त अिधकारŌ का Æयागमन

    B. धारा 42  2. असÌभव कायर् करने का करार

    C. धारा 45  3. . संयकु्त दाियÂवŌ का Æयागमन

    D. धारा 56 4. अÆय Óयिक्त से पालन प्रितगहृीत 

     करने का प्रभाव

Code:
     A B C D
 (a)  3 1 2 4
 (b)  4 1 3 2
 (c)  4 3 1 2
 (d)  3 1 4 2

60. सचूी-I को सचूी-II से समुिेलत कीिजए और नीच े िदए गए कूट 

का प्रयोग करते हुए सही उ°र चिुनए-

 सचूी-I      सचूी-II

   A. संिवदा के नवीयन   1. धारा 70 भा.सं.अ.

   B. अनिुचत संविृद्ध   2. धारा 62 भा.सं.अ.

   C. संिवदा के िलए सक्षम पक्षकार   3. धारा 15 भा.सं.अ.

   D. मÂृय ुकािरत करने की धमकी  4. धारा 11 भा.सं.अ.

 दकेर सÌपि° से कÊजा हटाना

Code :

           A   B  C  D
 (a)  2   4  3  1
 (b)  4   3  2  1
 (c)  2   1  4  3
 (d)  3  1  2   4

58. When the consent of both the parties is 
obtained by mistake, such consent is-

 (a) Void  (b) valid

 (c) Voidable (d) illegal

59. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List IIII
    A. Section 41  1. Devolution of joint 
       rights.
    B. Section 42   2. Agreement to do
         impossible act.
    C. Section 45  3. Devolution of joint 
       liabilities.
    D. Section 56  4. Effect of accepting 
       performance from  
      third person.
 Code:
      A B C D
 (a)  3 1 2 4
 (b)  4 1 3 2
 (c)  4 3 1 2
 (d) 3 1 4 2

60. Match List-I with List-II and select the 
correct answer using the codes given below-

 List-I      List-II 

   (Indian Contract Act)

   A.  Renewal of Contract   1. Section 70 

   B. Unjust enrichment  2. Section 62 

   C.  Competent party   3. Section 15 

        to contract

  D.  Removing possession   4. Section 11

        of property by threatening 

 to cause death  

Code :

           A   B  C  D
 (a)  2   4  3 1
 (b)  4   3  2 1
 (c)  2   1  4 3 
 (d)  3  1  2  4
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61. 1. A contract of insurance is a contingent       
contract.

 2. A contract of insurance is a voidable  
     contract.

 3. An insurance contract is an example of  
     a standard form of contract. 

 Select the correct statements using the  
 codes given below -
 (a) 1 and 2 are correct
 (b) 2 and 3 are correct
 (c) 1 and 3 are correct
 (d) All 1, 2 and 3 are correct.

62. The sections regarding contingent 
contract under the Indian Contract Act, 
1872 are- 

 (a) 31 to 37   (b) 32 to 37

 (c) 31 to 36  (d) 30 to 36

63. A contract dependent on the occurrence of 
an uncertain future event can be enforced 
when the event- 

 (a) happens  
 (b) becomes impossible 
 (c) does not happen
 (d) none of the above

64. Which section of the Indian Contract Act, 
provides that an agreement contingent on 
impossible events is void: 

 (a) Section 31  (b) Section 33
 (c) Section 35  (d) Section 36

65. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I   List II
   A. Section 33 1. Contracts contingent
      on an event not 
      happening.
   B. Section 36 2. Agreement contingent 
     on impossible events
   C. Section 2(c) 3. Promisor
   D. Section 2(h) 4. Contract

     Code :
       A    B  C D
 (a)   1   2  3  4
 (b)   4   3  2  1
 (c)   2   4  1  3
 (d)   3   1  2  4

61. 1. बीमा की संिवदा एक समाि®त संिवदा ह।ै
 2. बीमा की संिवदा शÆूयकरणीय संिवदा ह।ै
 3. बीमा की संिवदा प्राłप की संिवदा (ÖटैÁडडर् फामर् ऑफ 
    काÆटै्रक्ट) का एक उदाहरण ह।ै

 नीच े िदए गए कूटŌ का प्रयोग करते हुए सही कथनŌ को चिुनए -

 (a) 1 और 2 सही ह§

 (b) 2 और 3 सही ह§

 (c) 1 और 3 सही ह§

 (d) 1, 2 और 3 सभी सही ह§।

62. भारतीय संिवदा अिधिनयम, 1872 के तहत समाि®त संिवदा के 
संबंध म¤ धाराए ं ह§-  

 (a) 31 से 37 तक  (b) 32 से 37 तक

 (c) 31 से 36 तक  (d) 30 से 36 तक

63. भिवÕय की अिनिĲत घटना के घिटत होने पर आि®त / समाि®त 
संिवदा प्रवितर्त िकया जा सकता ह,ै जब घटना- 

 (a) घिटत होती ह ै
 (b) असÌभव हो जाती ह ै
 (c) घिटत नहीं होती है
 (d) उपरोक्त म¤ से कोई सही नहीं है

64. भारतीय संिवदा अिधिनयम, की कौन-सी धारा यह उपबÆध करतीह ै
िक असÌभव घटनाओ ं पर समाि®त करार शÆूय ह ै ? 

 (a) धारा 31  (b) धारा 33
 (c)  धारा 35  (d)  धारा 36

65. सचूी I को सचूी II से समुिेलत कर¤ और सिूचयŌ के नीच े िदए 
गए कोड का उपयोग करके सही उ°र चनु¤:

 सचूी I   सचूी II
    A. धारा 33  1. िकसी घटना के घिटत न होने प 
     रसमाि®त संिवदा
   B. धारा 36  2. असÌभव घटना ओपंर समाि®त  
     करार
   C. धारा 2(c)  3. वचनदाता
   D. धारा 2(एच)  4. संिवदा

Code :
       A   B  C D
 (a)   1   2  3  4
 (b)   4   3  2  1
 (c)   2   4  1  3
 (d)   3   1  2  4
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66. A agrees with B to pay B Rs. 2,000 when 
two straight lines enclose a space. This 
agreement-

 (a) is void   (b) is valid

 (c) is voidable  (d) is immoral

67. Jai, Veeru and Basanti borrow Rs 
45000from Gabbar.  After this Veeru and 
Basanti died. In this situation, in the 
absence of a contract otherwise, which of 
the following statements is correct?

 (a) The Jai, representatives of Veeru and  
            Basanti are liable to repay the debt of
     Gabbar
 (b) Gabbar cannot recover his money from 
      the representatives of Veeru and Basanti
 (c) Gabbar alone cannot recover the full   
     amount from Jai the survivor
 (d) Gabbar can recover the full amount from
     Jai and Jai is not entitled to recover part
     of that money from the representatives of
     Veeru and Basanti.

68. In a city, the timing of the shops is fi xed by 
municipal law. Shops should be closed at 9 
p.m. 'A' contracts with 'B' of the same town 
to supply him with 100 sacks of almonds 
on the same day at a certain price. 'A''s 
truck reached B''s shop at 10 o'clock in the 
night. The next day the price fell 

 (a) 'A' can get the payment done.

 (b) B may refuse to pay on the ground that

      the contract was not followed

 (c) A undertakes to deliver goods on the next

     day at the lower rate in force on that day.

 (d) none of the above

69. The first case decided by the Supreme 
Court on the 'Doctrine of Frustration' is-

 (a) Satyavrat Ghosh vs Mangni Ram

 (b) Sushila Devi vs. Hari Singh

 (c) Raja Dharmodas Chandra vs. Raja

      Harmohinder Singh

 (d) Basanti Vastralaya Vs. River Steam
      Navigation Co.

66. A, B के साथ समझौता करता ह ै िक वह B को Ł. 2,000 
दगेा, जब दो सीधी रेखाए ंएक Öथान को घरे लेगी। यह समझौता-

 (a) शÆूय ह ै  (b) वैध है

 (c) शÆूयकरणीय ह ै  (d) अनैितक है

67. जय, वीł और बसंती , गÊबर  से 45000 Ł. उधार लेते ह§। 
इसके बाद वीł और बसंती की मÂृय ु हो गई। इस पिरिÖथित 
म¤ अÆयथा अनबंुध के अभाव म¤ िनÌन कथनŌ म¤ से कौन-सा 
कथन सही ह?ै

 (a) जयऔरवीł और बसंती के प्रितिनिध, गÊबर का कजर् चकुाने 

    के िलए दायी ह§

 (b) गÊबर , वीł और बसंती के प्रितिनिधयŌ से अपनी धनरािश

    वसलू नहीं कर सकता है

 (c) गÊबर अकेले जीिवत Óयिक्त जय से भी परूी धनरािश वसलू

    नहीं कर सकता है

 (d) गÊबर, जय से परूी रकम वसलू कर सकता ह ैऔर जय िफर 

    वीł और बसंती के प्रितिनिधयŌ से उस धन का िहÖसा 

     वसलू करने का हकदार नहीं है
68. एक नगर म¤ नगरपािलका-िविध द्वारा दकुानŌ का समय िनिĲत 

ह।ै दकुान¤ राित्र म¤ 9 बजे बÆद हो जानी चािहए। 'अ' उसी नगर 
के 'ब' के साथ संिवदा करता ह ै िक वह उसी िदन िनिĲत दाम 
पर उसे 100 बोरी बादाम दगेा। 'अ' की गाड़ी 'ब' की दकुान पर 
रातके 10 बजे पहुचंी। अगले िदन दाम िगर गए 

 (a) 'अ' भगुतान करवा सकता ह।ै

 (b) 'ब' भगुतान इस आधार पर मना कर सकता ह ै िक संिवदा  
    का पालन नही िकया।

 (c) 'अ' अगले िदन उस कम दर पर माल दनेे के िलये आबद्ध

    करता ह ै जो उस िदन प्रव°ृ थी ।

 (d) उपयुर्क्त म¤ से कोई नहीं लाग ू होता ह।ै

69. उ¸चतम Æयायालय द्वारा 'नैराÔय के िसद्धाÆत" पर िविनिĲत प्रथम 
वाद ह-ै

 (a) सÂयĄत घोष बनाम मगंनी राम

 (b) सशुीला दवेी बनाम हिर िसंह

 (c) राजा धमōदास चÆद्र बनाम राजा हरमोिहÆदर िसंह

 (d) बसÆती वľालय बनाम िरवर Öटीम नेिवगेशन कं.
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70. Recently, the Karnataka High Court held 
that online rummy, being a game of skill, 
cannot be categorized as gambling or 
betting. The case is:

 (a) Aman Krishanlal Sachdeva vs Assistant  
     Director
 (b) Gameskraft Technologies Private Limited
     v.  DG Goods Services Tax Intelligence
 (c) RMD Chamarbaugawala v. Union of India
 (d) Play Games 24×7 Pvt. Ltd vs.
      Ramachandran

71. Match List-I and List-II and select the 
correct code.

 List-I    List-II
   A. Carlill v. Carbolic   1. General Offers
  Smoke Ball Co.
   B. Fisher v. Bell   2. Invitation to Treat
   C. Tinn v. Hoffman    3. Price Quotation
 & Co.
    D. Harvey vs Facie   4. Cross offers

 Code :

      A   B   C  D
 (a)  1   2    4  3
 (b)  4   3    2  1
 (c)  2   4    1  3
 (d)  3   1    2  4

72. 'A' agrees to hire his daughter to 'B' to have 
her as a concubine-

 (a) The agreement is valid

 (b) The agreement is moral

 (c) The agreement is void because it is

     immoral

 (d) The agreement is voidable

73. Under the Indian Contract Act, 1872, A 

promises to B to drop a prosecution brought 

against him in court by A on a charge of 

robbery, and B promises to restore the 
value of the things taken. this agreement

 (a) Is valid (b) Is Void

 (c) Illegal (d) Is viodable 

70. हाल ही म¤, कनार्टक उ¸च Æयायालय ने माना िक ऑनलाइन 
रÌमी, कौशल का खेल ह,ै इसे जआु या सटे्टबाजी के łप म¤ 
वगीर्कृत नहीं िकया जा सकता ह।ै यह मामला  ह:ै

 (a) अमन कृÕणलाल सचदवेा बनाम सहायक िनदशेक

 (b) गेÌसक्राÉट टेक्नोलॉजीज प्राइवेट िलिमटेड बनाम डीजी गड्ुस 

    सिवर्सेज टैक्स इटेंिलज¤स

 (c) आरएमडी चमरबाउगावाला बनाम भारत संघ
 (d) Èले गेÌस 24×7 प्रा. िलिमटेड बनाम रामचÆद्रन

71. सचूी-I एवं सचूी-II का िमलान कीिजए एवं सही कोड को चिुनए।

 सचूी-I    सचूी-II

  A. कािलर्ल बनाम काबōिलक  1. बड़े पैमाने पर ऑफर

      Öमोक बॉलकं.

  B. िफशर बनाम बेल  2. ट्रीट करने का Æयोता

  C. िटन बनाम हॉफ मनै एवं कं. 3. मÐूय का उद्धरण

  D. हॉवेर् बनाम फैसी  4. क्रॉस ऑफसर्

Code :
       A   B   C  D
 (a)  1   2    4  3
 (b)  4   3    2  1
 (c)  2   4    1  3
 (d)  3   1    2  4

72. 'क' अपनी पतु्री को उप-पÂनी के łप म¤ रखने के िलए 'ख' को 
भाड़े पर दनेे के िलए करार करता ह-ै

 (a) करार वैध है

 (b) करार नैितक है

 (c) करार शÆूय ह,ै क्यŌिक अनैितक है

 (d) करार शÆूयकरणीय ह ै

73. भारतीय संिवदा अिधिनयम, 1872 के अधीन क, ख को वचन 

दतेा ह ै िक वह उस अिभयोजन को, जो उसके िवŁद्ध कने लटू 

का आरोप Æयायालय म¤ लगाया ह,ै रोकदगेा और खली गई चीजŌ 

का मÐूय लौटा दनेे का वचन दतेा ह।ैयह करार

 (a) वैध ह ै (b) शÆूय है

 (c) अिविधपणूर् ह ै (d) शÆूयकरणीय है
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74. 'A' promises to pay a sum of money to a 
police offi cer for making an investigation 
into the matter of an offence. it-

 (a) is a valid contract

 (b) is a void contract

 (c) is a voidable contract

 (d) is an illegal contract

75. Which is not mentioned in section 23 of 
the Indian Contract Act?The consideration 
or object of the agreement is lawful, unless

 (a) it is prohibited by law
 (b) it is fraudulent
 (c) it is considered immoral

 (d) it is illegal

76. Which one of the following does not 
constitute fraud?

 (a)  the positive assertion, in a manner  not

      warranted by the information of  the

      person making it, of that which is not

      true, though he believes it to be true. 

 (b) the active concealment of a fact by one

     having knowledge or belief of the fact

 (c) a promise made without any intention of
    performing  it
 (d) any other act fi tted to deceive

77. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List II
   A. Section 64. 1. Effect of refusal of   
   party to perform promise
    wholly
  B. Section 54 2. Consequences of  
    rescission of a voidable  
   contract
  C. Section 39. 3. Effect of accepting
   performance from third  
    person
  D. Section 41. 4. Effect of default as to
    that promise which   
    should be performed

74. 'क' िकसी पुिलस अिधकारी को िकसी अपराध के िवषय म¤ 
अÆवेषण करने के िलए एक रकम दनेे का वचन दतेा ह।ै यह- 

 (a) एक वैध संिवदा है

 (c) एक शÆूय संिवदा है

 (b) एक शÆूय करणीय संिवदा है

 (d) एक अवैध संिवदा है

75. भारतीय संिवदा अिधिनयम की धारा 23 म¤ कौन-सा उिÐलिखत 
नहीं ह ै? करार का प्रितफल या उĥÔेय िविधपणूर् ह,ै िसवाय जबिक

 (a) वह िविध द्वारा िनिषद्ध हो

 (b) वह कपटपणूर् हो

 (c) वह अनैितक माना जाये

 (d) वह अवैध हो

76. िनÌनिलिखत म¤ से कौन सा कपट नहीं ह?ै

 (a) उस बात को, जो सÂय नहीं ह,ै ऐसे प्रकार से िकया गया  
    िनĲयाÂमक प्राख्यान जो उस Óयिक्त की जो उसे करता ह,ै  
    जानकारी से समिथर्तन हो, यद्यिप वह उस बात के सÂय होने

    का िवĵास करता हो;

 (b) िकसी तÃय का ज्ञान या िवĵास रखने वाले Óयिक्त द्वारा उस 

     तÃय का सिक्रय िछपाया जाना;

 (c) कोई वचन जो उस का पालन करने के आशय के िबना
     िदया गया हो; 
 (d) प्रवंचना करने योग्य कोई अÆय कायर्

77. सचूी-I एवं सचूी-II का िमलान कीिजए एवं सही कोड को चिुनए।
 सचूी-I    सचूी-II

 A. धारा 64. 1. वचन का पणूर्तः पालन करने से  
     पक्षकार के इÆकार का प्रभाव

 B. धारा 54 2. शÆूय करणीय संिवदा के िवखÁडन

     के पिरणाम

 C. धारा 39.  3. अÆय Óयिक्त से पालन प्रितगिृहत  
     करने का प्रभाव

 D. धारा 41 4. Óयितकारी वचनŌ से गिठत संिवदा

     म¤
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Code :

         A   B   C   D

 (a) 2  4  3  1
 (b) 4  3  2  1
 (c) 2  4  1  3
 (d) 3  1  2  4

78. Which of the following suits is related to the 
doctrine of Pari Delicto?

 (a) Barrett vs. Irwin

 (b) Banwari Lal Vs Sukhdarshan Dayal

 (c) Onkarmal Vs Banwari Lal

 (d) State of Madras v. Gannon Dunkerley

     & Co.

79. 'A' and 'B' contract in the mistaken belief 
that a debt is,time-barred by the Indian law 
of limitation. In this case the contract is-

 (a) valid   (b) void

 (c) voidable  (d) none of the above

80. Compensation for breach of contract
 (a) certain
 (b) uncertain
 (c) neither defi nite nor uncertain
 (d) All are false

81. Quasi contractual obligations are based on 
the theory propounded by whom?

 (a) Lord Denning   (b) Lord Hillsborough

  (c) Lord Wright   (d) Lord Mansfi eld

82. Which of the following is not a quasi-
contract:

 (a) Obligation of person enjoying benefi t of  
     non-gratuitous act
 (b) Responsibility of fi nder of goods
 (c) Quantum merit
 (d) Novation

83. Match List-I with List-II and select the 
correct answer using the codes given below 

 List-I    List-II
    A. Communication of       1. Derry v. Peak
         acceptance by telephone
   B. Breach of prior contract  2. SatyavratGhosh
               v. Mangni Ram

  Code :
    A  B  C D
 (a) 2  4  3  1
 (b) 4  3  2  1
 (c) 2  4  1  3
 (d) 3  1  2  4

78. िनÌनिलिखत वादŌ म¤ से कौन-सा वाद समदोष (पैरीडेिलक्टो) 
िसद्धांत से संबंिधत ह?ै

 (a) बैरेट बनाम इरिवन

 (b) बनवारी लाल बनाम सखु दशर्न दयाल

 (c) ओकंारमल बनाम बनवारीलाल

 (d) मद्रास राºय बनाम गैननडं कर लेएडंक

79. 'A' और 'B' इस गलत िवĵास पर संिवदा करते ह§ िक एक ऋण 

भारतीय िमयाद िविध द्वारा कालातीत ह।ैइस मामले म¤ संिवदा ह-ै-- 

 (a) वैध  (b) शÆूय

 (c) शÆूयकरणीय  (d) उपरोक्त म¤ से कोई नहीं

80. संिवदा भगं से प्राĮ होने वाली क्षितपिूतर् -
 (a) िनिĲत
 (b) अिनिĲत
 (c) न िनिĲत ह ै न अिनिĲत
 (d) सभी असÂय है

81. संिवदा कÐप के दाियÂव के िसद्धांत के प्रितपादक थे-

 (a) लाडर् डेिनंग (b) लाडर् हÐैसबरो

 (c) लाडर् राइट (d) लाडर् मÆेसफीÐड

82. िनÌनिलिखत म¤ से कौन सा संिवदाकÐप नहीं ह:ै

 (a) अनगु्रिहक कायर् का फायदा उठाने वाले Óयिक्त की बाÅयता 

 (b) माल पड़ा पाने वाले का उ°रदाियÂव

 (c) क्वांटम मिेरट
 (d) नवीयन

83. सचूी-I को सचूी-II से समुिेलत कीिजए और नीच े िदए गए कूट 
का प्रयोग करते हुए सही उ°र चिुनए -

 सचूी-I   सचूी-II

   A. टेलीफोन के द्वारा Öवीकृित की संसचूना 1. डेरी बनाम पीक

   B. पवूर्कािलक संिवदा भगं    2.सÂयĄत घोष बनाम
            मगंनी राम 
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  C. Doctrine of      3. Bhagwan Das v.  
    frustration of contract        GirdhariLal

  D. Fraud      4. Hochester vs. 

           De La Tour
 Code :
      A   B   C  D
 (a)  3   4   2   1
 (b) 4   3   2   1
 (c) 2   4   1   3
 (d) 3   1   2   4

84. If the requirements of the minor are 
satisfi ed, then-

 (a) The minor is a personally  liable
 (b) The minor is not liable
 (c) The minor is liable to the property or
      assets of the minor
 (d) The liability of a minor on attaining
      majority

85. Match List-I with List-II and select the 
correct answer using the codes given 
below -

 List-I   List-II
   A. SatyabrataGhosh  1. Invitation to offer 
        v. Manganiram
   B. RajraniVsPremAdeeb 2. Communication  
        of acceptance
  C. Antors Ltd. v.    3. Agreement by a     
      Miles for East       minor
      Corporation
  D. Harvey v. Facie       4.  Principle of  
       impossibility

Code :
       A   B   C   D
 (a)   3   4    2   1
 (b)   4   3    1   2
 (c)   2   4    1   3
 (d)  4   3    2   1

86. A, having contracted with B to supply B 
with 1,000 tons of iron at 100 rupees a ton, 
to be delivered at a stated time,contracts 
with C for the purchase of 1,000 tons of 
iron at 80 rupees a ton, telling C that he 
does so for the purpose of performinghis 
contract with B. C fails to perform his 
contract with A, who cannot procure other 
iron, and B, in consequence, rescinds 
thecontract. 

   C. संिवदा का नैराÔय िसद्धांत    3.भगवान दास बनाम
      िगरधारीलाल
   D. कपट   4.होचÖेटर बनाम िड  
      ला टूर
 Code :
      A   B   C  D
 (a)  3   4   2   1
 (b) 4   3   2   1
 (c) 2   4   1   3
 (d) 3   1   2   4

84. यिद अवयÖक की आवÔयकताए ँ परूी की जाती ह§, तो यह -

 (a) अवयÖक का Óयिक्तगत दाियÂव है

 (b) अवयÖक का दाियÂव नहीं है

 (c) अवयÖक की संपि° या पिरसंपि° पर दाियÂव है

 (d) वयÖक होने पर अवयÖकका दाियÂव है

85. सचूी-I को सचूी-II से समुिेलत कीिजए और नीच े िदए गए कूट 
का प्रयोग करते हुए सही उ°र चिुनए -

 सचूी-I   सचूी-II

   A. सÂयब्रत घोष बनाम मगंनीराम  1. प्रÖथापना के िलए िनमतं्रण

   B. राजरानी बनाम पे्रम अदीब    2. Öवीकृित की संसचूना

   C. एÁटोसर् िल. बनाम   3. अवयÖक द्वारा करार

      माइÐस फॉर ईÖट कॉरपोरेशन

   D. हावेर् बनाम फैसी  4. असंभवता का िसद्धांत
 Code :
        A B   C D
 (a) 3  4   2  1
 (b) 4  3   1  2
 (c) 2  4   1  3
 (d) 4  3   2  1

86. ख से क यह संिवदा करता ह ै िक वह 100 Łपए प्रित टन की दर 
से 1,000 टन लोहा, जो किथत समय पर पिरद° िकया जाएगा, 
उसे प्रदाय करेगा । वह ग को यह बतलाकर िक म§ ख के साथ 
हुई अपनी संिवदा का पालन करने के प्रयोजन से तमु से संिवदा 
कर रहा हू ंउससे 80 Łपए प्रित टन दर से 1,000 टन लोहा लेने 
की संिवदा करता ह।ै क के साथ अपनी संिवदा का पालन करने 
म¤ ग असफल होता ह।ै क दसूरा लोहा उपाĮ नहीं कर सकता 
और उसके पिरणामÖवłप व संिवदा का िवखडंन कर दतेा ह।ै क 
के प्रित ग को, 20,000 Łपए दनेे हŌगे जो उस लाभ की रकम 
ह ैजो ख से अपनी संिवदा का पालन करने पर क प्राĮ करता ।
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 (a) C must pay to B 20,000 rupees

 (b) C must pay to A 20,000 rupees

 (c) A must pay to B 20,000 rupees

 (d) None of the above

87. There is a provision in respect of 
compensation for loss or damage caused 
by breach of contract-

 (a) Section 51 of the Contract Act 

 (b) Section 63 of the Contract Act

 (c) Section 73 of the Contract Act

 (d) Section 125 of the Contract Act

88. Which statement(s) is/are correct with 
respect to 'fraud' and 'misrepresentation'?

 1. Both make the contract voidable
 2. Fraud furnishes a cause of action for   
     damages in tort
 3. Simple misrepresentation is also a tort
 Select the correct answer using the code   
 given below :

 Code :

 (a) 1 and 2  (b) 2 and 3

 (c) 1 and 3  (d) 1, 2 and 3

89. When a contract has been breached, the 
party who suffers damage by the breach of 
contract may recover from the party who 
has breached the contract-

 (a) liquidated damages
 (b) compensatory damages
 (c) punitive damages
 (d) none of these

90. Match List I with List II and select the 
correct answer using the code given below 
the Lists:

 List I    List II
  A. JamnadasVs  1. Rule of Contractual  
       Ram Avtar     Relationship
  B. Jamal v. MullaDa 2. Frustration of contract
       wood Sons & Co. 
  C. SatyavratGhosh v.  3. Measurement of   
       Mangni Ram      damages
  D. Hochester v. De  4. Breach of antici
      La Tour     -patory contract

 (a) ग को ख को 20,000 Łपये का भगुतान करना होगा

 (b) ग को क को 20,000 Łपये का भगुतान करना होगा

 (c) क को ख को 20,000 Łपये का भगुतान करना होगा

 (d) इनम े से कोई भी नहीं
87. संिवदा के उÐलंघन से कािरत हािन या नकुसान के िलए प्रितकर 

के संबंध म¤ प्रावधान ह-ै

 (a) संिवदा अिधिनयम की धारा 51 

 (b) संिवदा अिधिनयम की धारा 63

 (c) संिवदा अिधिनयम की धारा 73
 (d) संिवदा अिधिनयम की धारा 125

88. 'कपट' और 'दÓुयर्पदशेन' के संबंध म¤ कौन-सा कथन सही ह/ैह§?

 1. दोनŌ संिवदा को शÆूयकरणीय बनाते ह§

 2. कपट दÕुकृित म¤ नकुसानी के िलए वाद हतेकु प्रÖततु करता

    है

 3. साधारण दÓुयर्पदशेन एक दÕुकृित भी ह ै नीच े िदए गए कूट

   की सहायता से सही उ°र चिुनए:

 कूट :
 (a) 1 और 2  (b) 2 और 3
 (c) 1 और 3  (d) 1, 2 और 3

89. जब कोई संिवदा भंग हो गई हो तब वह पक्षकार जो संिवदा 
भगं से क्षित उठाता ह,ै वह उस पक्षकार से िजसने संिवदा भगं 
की ह,ै प्राĮ कर सकता ह-ै

 (a) पिरिनधार्िरत नकुसानी
 (b) प्रितकर की नकुसानी
 (c) शािÖतक नकुसानी
 (d) इनम¤ से कोई नहीं

90. सचूी-I को सचूी-II के साथ समुिेलत कीिजए और सिूचयŌ के 
नीच े िदए गए कूट की सहायता से सही उ°र चिुनए :

 सचूी-I   सचूी-II

  A. जमनादास बनाम राम अवतार 1. संिवदाÂमक संबंध का िनयम

  B. जमाल बनाम मÐुला       2. संिवदा का नैराÔय

     दाउद सÆस एडं कं.

  C. सÂयĄत घोष बनाम मगंनी राम  3. नकुसानी की माप

  D. होचÖेटर बनाम िड ला टूर   4. प्रÂयािशत संिवदा भगं
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Code :
       A  B  C D
 (a)  3   4  2 1
 (b)  4   3  1 2
 (c)  2   4  1 3
 (d)  1  3  2 4

91. "Non est factum" means-

 (a) Document executed in ignorance

 (b) Document executed under coercion

 (c) Document executed under undue

     infl uence

 (d) Document executed outside India

92. Which of the following statement is correct? 
Indian law provides compensation for 
breach of contract-

 (a) To meet the profi t this would have been
    made if the contract had not been breached.
 (b) By way of compensation for loss which
     was caused in the ordinary course of time 
    or which was probable to the knowledge  
   of the parties at the time of the contract.
 (c) To punish the defaulter.
 (d) As compensation for mental agony and  
     material loss resulting from the breach of
    contract

93. In the Indian Contract Act, 1872, the fi nder 
of lost goods is-

 (a) Bailor (b) Surety

 (c) Bailee (d) none of the above

94. A' protects 'B's property from fire. The 
circumstances show that 'A' intended to 
act gratuitously. Is 'A' entitled to receive 
compensation from 'B'?

 (a) Yes
 (b) Not from 'B' but from the government
 (c) Not from B but from his heirs
 (d)  Not entitled

95. Reasonable time for performing a contract 
is a question of 

 (a) Fact
 (b) Law
 (c) Fact and law mixed
 (d) Wisdom

Code :
       A  B  C  D
 (a)  3   4  2  1
 (b)  4   3  1  2
 (c)  2   4  1  3
 (d) 1  3 2 4  

91. "नॉन एÖट फैक्टम' का अथर् ह-ै

 (a) अज्ञानता म¤ िनÕपािदत दÖतावेज

 (b) प्रपीड़न म¤ िनÕपािदत दÖतावेज

 (c) अनिुचत प्रभाव के अतंगर्त िनÕपािदत दÖतावेज

 (d) भारत के बाहर िनÕपािदत दÖतावेज

92. िनÌनिलिखत म¤ से कौन सा कथन सही ह ै ? संिवदा भगं होने 
पर भारतीय िविध क्षितपिूतर् प्रदान करती ह-ै

 (a) संिवदा भगं न होने पर जो लाभ होता उसको परूा करने के

    िलए ।

 (b) जो सामाÆय क्रम म¤ हािन हुई अथवा जो संिवदा करते समय

  पक्षकारŌ की जानकारी के अनसुार सÌभािवत थी उसके प्रितकर

  Öवłप ।

 (c) Óयितक्रमी को दिंडत करने के िलए ।

 (d) संिवदा भगं के पिरणाम Öवłप हुई मानिसक वेदना तथा
    भौितक हािन के िलए प्रितकर Öवłप

93. भारतीय संिवदा अिधिनयम, 1872 म¤ खोये हुए माल को पाने 
वाला ह-ै

 (a) उपिनधाता  (b) प्रितभू
 (c) उपिनिहती  (d) उपरोक्त म¤ से कोई नहीं

94. 'ब' की सÌपि° को 'अ' आग से बचाता ह।ै पिरिÖथितयाँ दिशर्त 
करती ह§ िक 'अ' का आशय आनगु्रिहकतः कायर् करने का था। 
क्या 'अ', 'ब' से प्रितकर प्राĮ करने का अिधकारी ह?ै

 (a) हाँ है
 (b) 'ब' से नहीं बिÐक शासन से
 (c) 'ब' से नहीं बिÐक उसके वािरशŌ से 
 (d) नहीं है

95. िकसी संिवदा के पालन करने के िलए यिुक्तयकु्त समय, प्रĳ ह-ै 
 (a) तÃय का 
 (b) िविध का
 (c) तÃय एवं िविध िमि®त 
 (d) प्रज्ञा का
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96. ChamanLal agrees that if 'Sachin' marries 
'SeemaHaider', he will give a sum of 
money to 'Sachin'. 'SeemaHaider' marries 
'GhulamHaider'. Agreement is-

 (a) Void  (b) Voidable
 (c) Valid  (d) illegal 

97. A' agrees to pay a sum of money to 'B' if 
a certain ship does not return. That ship 
sinks-

 (a) The contract is enforceable
 (b) The agreement is void by reason of 
       impossibility
 (c) The contract is voidable at K's option
 (d) The agreement is void due to uncertainty

98. The dictum "ex dolo malo non oritur actio" 
is related to—

 (a) Illegal contract
 (b) From a document executed ignorantly
 (c) By contract
 (d) For consideration

99. An agreement is unlawful (illegal) if it-
 (a) Is done by betting
 (b) Adoption of a child in exchange for money
 (c) Is an inhibitor of marriage
 (d) Is a barrier to trade

100. A general offer is a offer that
(a) lays down the general terms of   
  contract law
(b) Not intended to create a legal   
 relationship
(c) is given to common people and can  
 be accepted by anyone
(d) not intended to create a contractual  
 relationship

96. चमन लाल  करार करता ह ै िक यिद 'सीमा हदैर ' से 'सिचन ' 
िववाह करे, तो वह 'सिचन ' को एक धनरािश दगेा। 'गलुाम हदैर 
' से 'सीमा हदैर ' िववाह कर लेती ह।ै करारह-ै

 (a) शÆूय  (b) शÆूयकरणीय
 (c) वैध  (d) अवैध

97. 'क' करार करता ह ै िक अमकु पोत वापस न आए तो वह 'ख' 
को एक धनरािश दगेा। वह पोत डूब जाता ह-ै

 (a) संिवदा प्रवतर्नीय है

 (b) असÌभवता के कारण करार शÆूय है

 (c) संिवदा‘क’ के िवकÐप पर शÆूयकरणीय है

 (d) करार अिनिĲतता के कारण शÆूय है

98. सिूक्त "एक्स  डोलो  मालो  नॉन  ओिरतरू  एक्टीवो" संबंिधत ह-ै 
 (a) अवैध संिवदा से 
 (b) अज्ञानवश िनÕपािदत दÖतावेज से 
 (c) संिवदा कÐप से 
 (d) प्रितफल से

99. एक करार िविध िवŁद्ध (अवैध) ह,ै यिद यह-
 (a) पंद्यम ् (बाजी) द्वारा की जाती ह।ै
 (b) मदु्रा के बदले एक ब¸च ेका द°क ग्रहण है
 (c) िववाह का अवरोधक है
 (d) Óयापार का अवरोधक है

100. एक सामाÆय प्रÖताव ऐसा प्रÖताव ह ै जो

(a) संिवदा िविध की सामाÆय शतŎ को रखता है

(b) िविधक संबंधŌ की रचना करने के िलए आशियत नहीं है

(c) सामाÆय जनŌ को िदया जाता ह ै एवं िकसी के भी द्वारा   

    Öवीकार िकया जा सकता है

(d) संिवदाÂमक संबंधŌ की रचना के िलए आशियत नहीं है


